SWITCHING TO A FOUR-DAY WEEK

1. The New Zealand company’s employees
maintained job performance levelsin...
a) four days.
b) 32 days.
c¢) less than two months.

2. Which question is closest to the first

question that Derek Thompsonis ]
asked? , & 4 *i
a) How do you explain the success of ,
four-day weeks? =y ‘
b) Why have some big American  NORNING
companies experimented with four- COMPWESSEEBENeﬂsoITIiXVWEoEEWEE';?
day weeks?

c) Can companies in any sector adopt four-day weeks?

3. He says that four-day weeks improve ...
a) productivity.
b) profits.
c) job satisfaction.

4. Whatis ‘the bottom line?
a) the lowest grade of employees
b) company results
c) meaningful work

5. What is the activity of the large company in San Antonio?
a) real estate
b) banking 1
c) insurance -

6. Why does Derek Thompson mention sleeping? 2.
a) toillustrate that productivity arrives slowly, like deep sleep
b) to suggest that employees on four-day weeks sleep better
c) to point out that productivity has the same number of cycles as sleep 3.

7. Which of these people might have the greatest difficulty in adopting a
four-day week? 4.
a) arecruiter
b) a senior executive
c) someone in the media business 5.
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